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Block 1: | o1 @2 93 @1 @5 @6 P10 P11 P12 Pu P15 P16 P17 P1o
11 = X1 1 . .
13376, = X3 1 1 .
133762 = x4 . . 1 1 .
2659160 =x5| 1 1 1 .
269162 =x6 | 1 1 . . . 1
26752y =x7 | 2 1 1 1 . 1
323951 = X8 2 1 . 1 1 1
323952 = X9 2 1 1 1 1 .
376961 =x1w0 | 1 2 . . . 1 . 1
647901 = X16 3 3 1 . 1 1 1 1 1
647902 = X17 3 3 . 1 1 1 1 1 . . 1
850641 =x18s| 3 4 1 1 1 1 . . . . 1 1 1
116963 = x19 | 6 4 1 1 3 1 1 2 1 .
1433741 = x20 | 2 1 . .11 2 1 . 1
1756161 =x23| 3 3 1 1 1 1 2 1 1 1
1756160 =x24 | 3 3 1 1 1 1 2 1 . . 1 1
234080, =x29 | 4 5 1 1 2 2 2 . . . 1 1 2 1
234080 =x30 | 4 6 1 1 1 1 4 1 1 1 2 1
3421 = x31 1
3425 = X317 1.
3423 = xa2 1
342, = 537 1 .
4951 = x33 1
4955 = 43 1 .
4953 = X34 1
495, = x5 | . . o1 : :
526682 = X38 2 1 1 1 1 1
526683 = x32° | 2 1 11 . : : .11
526684 = x39 | 2 2 2 1 1 1
526685 = x32° | 2 2 2 1 11 .
58311y =xa0 | 2 2 2 1 1 1
583115 =x32 | 2 2 . . 2 1 1 . 1
586532 = X41 5 2 1 1 1 2
586533 = xi2 | 5 2 11 1 2 .
1166221 = x4 2 1
116622 =x33 | . . . . . .2 : : : 1
1227601 =xus | 4 6 1 1 1 1 1 1 1 2
122760, =xi2 | 4 6 1 1 1 1 1 112 .
169632, = x4 | 2 3 1 1 1 1 1 1 1 1
169632 =33 | 2 3 1 1 1 1 1 1 1 1




(BlOCk 12) Y1 P2 P3 P4 P5 Y6 Pio P11 P12 P14 P15 P16 P17 P19
1696323 = Y49 2 3 1 1 1 1 1 1 1 1
169632, =x3¢t | 2 3 1 1 1 1 1 : . 1 1 1
2534401 = X354 6 6 1 1 2 2 4 1 2 2 1
253440, =x:®2 | 6 6 1 1 2 2 4 1 . 2 2 1
2534403 = x5 6 6 1 1 2 2 4 1 2 2 1
253440, =32 | 6 6 1 1 2 2 4 12 2 1
p1 = 1 w11 = 7238
Y2 = 1541 Y12 = 72382
Y3 = 3421 Y14 = 256061
Y4 = 3422 Y15 = 257611
$Y5 = 4951 Y16 = 257612
Y6 = 4952 Y17 = 312491
Y10 = 61381 Y19 = 1043461
Block 2: | o7 98 @9 13 Pis
109441 = xo 1 .
526681 = X11 . 1 1
583111 = x12 1 . 1 1
583112 = X13 . 1 1 1
583113 = X14 . 1 . 1 1
586531 = Xx15 1 1 1 1 w7 = 5643;
g = 56432
5643, = ng 1 0o = 5643;
56432 = X35 1 . P13 = 109441
56435 = X3 1 p18 = 417244
56434 = x52 1.
56435 = X37 1
56436 = x42 1 : .
636121 = X42 2 1
636125 = XZ% . . 2 1
1113211 = x43 1 1 1 1 2
1113215 = XZ% 1 1 1 1 2
Block 3: ®20
1692901 = yo1 | 1 owy = 160290,

1692905 = x4 | 1
1692904 = x4 | 1




Block 4: | o7

1692905 = Y22 1

0o1 = 169290,
1692905 = Y47 1
1692906 = 37 | 1
Block 5: | @99
1757701 = x5 | 1 o2 = 175770
1757702 = x50 1
1757705 = x23 | 1
Block 6: | @93
2073601 = x26 | 1 @3 = 207360,
2073604 = x51 1
2073605 = x:2° | 1
Block 7: | @o4
2073602 = x27 | 1 024 = 207360,
2073606 = x52 1
2073607 = x:2° | 1
Block 8: | @95
2073603 = Y8 1 o5 = 2073603
2073605 = x53 1
2073609 = x32° | 1




